Binomial Theorem - Class Xl

Related Questions with Solutions

Questions

Quetion: 01
In questions below, If Cg, C1, Co,..., Cnh are the combinatorial coefficients in the

expansion of (1 + x)", n[N, then
Co+Ci+Ci+... +C =
A. 2nCn

B.2"C,,_,

()’

D.(**C,y )

Solutions

Solution: 01

[1 4+ x]? = BCq + BCyx + PCox2 +...+ DCpxD

[x + 110 = Cox™ + nclxn'l +...+ BCq

multiply

[1 + x]2R = [BC + DCyx +...4+ BCpxB] [RCoxP+...+ BCq]
an T n012 + ...+ "CZ = coefficient of z™in (1 + :E)2”
= chn

Correct Options

Answer:01
Correct Options: A



